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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

búˆ Yy [ 6th Paper : Comprehensive Economic 
Development (Britain/Japan/China) & Basics 

of Environmental Economics ] 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) ◊`î◊[˝Y¿[˝ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ◊[˝–‰ªRÙO„Xc˜O Y“U] 

◊`î◊[˝Y¿[˝ H‰ªRÙO◊ªK˜_ ÂEıX ? ◊`î◊[˝Y¿„[˝Ã[˝ Zı„_ ◊Eı\ˆÁ„[˝ 

◊[˝–‰ªRÙO„XÃ[˝ Â_Ïc˜◊`„î Y“^«◊N˛GTˆ Y◊Ã[˝[˝Tˆ¤X A„a◊ªK˜_ TˆÁ 

[˝ÓÁFÓÁ EıÃ[˝”X* 2 + 6 + 12 

 (F) Â]c˜O◊LÃ[˝ `Áa„X LÁYÁ„XÃ[˝ \…ˆ◊]-[˝Ó[˝ÿöˆÁ C E ı◊bÃ[˝ 

%G–G◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (G) ◊[˝–‰ªRÙO„X ◊`î◊[˝Y¿[˝ aeH◊ªRÙOTˆ c˜„_C c˜O=„Ã[˝Á„YÃ[˝ %XÓÁXÓ 

ÂV„` TˆÁ aeH◊ªRÙOTˆ c˜Ã^ ◊X ÂEıX ? [˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) Y◊Ã[˝„[˝` aey‘Á‹ôˆ [˝ÿô«ˆÃ[˝ ]…_ÓÁÃ^„X ªJÙÁ◊c˜VÁ ÂÃ[˝FÁ 

◊XW˝ÔÁÃ[˝„SÃ[˝ Ã[˝÷YÁ◊Ã^Tˆ YªK˜„≥VÃ[˝ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ◊[˝–‰ªRÙO„XÃ[˝ ◊`îÁÃ^X Y“◊y‘Ã^ÁÃ^ È[˝„V◊`Eı [˝Á◊SLÓ ◊Eı\ˆÁ„[˝ 

ac˜ÁÃ^TˆÁ Eı„Ã[˝◊ªK˜_ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) ◊ªJÙ„XÃ[˝ ]ÁC-ÂL-VI¯ AÃ[˝ "E ı◊bc˜O Y“U]' =~Ã^„XÃ[˝ 

X›◊Tˆ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

(G) ◊Xf„`b„^ÁGÓ a+V ◊Eı ? ◊Xf„`b„^ÁGÓ a+„VÃ[˝ 

EıÁ]Ó Y◊Ã[˝]ÁS ◊XïıbÔ„SÃ[˝ Â]Ï◊_Eı `Tˆ¤◊ªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
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(H) [˝ÓÁFÓÁ EıÃ[˝”X ◊Eı\ˆÁ„[˝ "\ˆT«ˆ¤Eı› Y“VÁX' [˝Ó[˝ÿöˆÁ◊ªRÙO V…bS 

◊XÃ^‹óˆ„S EıÁL Eı„Ã[˝* 

(I¯) ◊[˝–‰ªRÙO„XÃ[˝ =VÁÃ[˝X›◊Tˆ C "Â_ ÂL-ÂZıÃ^ÁÃ[˝' ◊[˝Tˆ„EÔıÃ[˝ 

AEı◊ªRÙO ae◊l˘ä [˝ÓÁFÓÁ ◊VX*  

(ªªJÙ˜) ◊ªJÙ„XÃ[˝ aÁ+“◊TˆEı ◊[˝◊\ˆ~ %UÔÍX◊TˆEı aeïıÁÃ[˝ a+„EÔı 

AEı◊ªRÙO ae◊l˘ä [˝ÓÁFÓÁ ◊VX* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) V…bS ◊Eı\ˆÁ„[˝ @SÁ±¡Eı [˝Á◊c˜ÓEıTˆÁÃ[˝ a„Ü ^«N˛ c˜Ã^ ? 

(F) ◊[˝–‰ªRÙO„XÃ[˝ ◊`îÁÃ^„X E ı◊b ◊[˝Y¿„[˝Ã[˝ %[˝VÁX [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(G) ◊[˝–‰ªRÙO„X ]…_W˝X Y“[˝Ác˜ a+„EÔı _«c˜Oa C Ã[˝‰∫RÙOÁÃ[˝ 

]TˆÁ]Tˆ ◊_F«X* 

(H) "a[˝ÔaÁW˝ÁÃ[˝„SÃ[˝ a+◊w¯ a+„VÃ[˝' W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(I¯) Â`Ám„XÃ[˝ YTˆ„XÃ[˝ EıÁÃ[˝Sm◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 

(ªJÙ) ae„l˘„Y }]S [˝ÓÃ^ Yà˘◊Tˆ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

(ªK˜) Y◊Ã[˝„[˝` C %UÔ[˝Ó[˝ÿöˆÁÃ[˝ ]„W˝Ó a+EÔı◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

(L) Y“Á◊‹ôˆEı Y“`]X [˝ÓÃ^ (MAC), Y“Á◊‹ôˆEı ◊XªRÙO [˝Ó◊N˛GTˆ 

a«◊[˝W˝Á (MNPB) A[˝e Y“Á◊‹ôˆEı [˝Á◊c˜ÓEı [˝ÓÃ^     

(MEC)-AÃ[˝ W˝ÁÃ[˝SÁm◊_ ◊_F«X* 
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English Version 

 
1. Answer any two questions : 20 × 2 = 40 

(a) What do you mean by industrial   

revolution ? Why did industrial revolution 

at first take place in Britain ? How had the 

technological changes take place in iron 

industry as a result of industrial   

revolution ? 2 + 6 + 12 

(b) Discuss the development of land system 

and the development of agriculture in 

Japan during the Meiji regime. 

(c) Explain why industrial revolution occurred 

in Britain and not in other countries of 

Europe.  

(d) Explain the Revealed Preference approach 

to determine the demand curve for the 

valuation of environmental goods. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss how foreign trade helped in the 

industrialisation of Britain. 

(b) Discuss the China's Mao-Ze-dong's 

'Agriculture first' developmental policy. 

(c) What is depleted resources ? Discuss the 

fundamental optimum extraction condition 

of depleted resources.  

(d) Discuss how the 'subsidy system' can be 

used to control pollution.   

(e) Give a brief explanation about the debate of 

Liberalisation policy of Britain and Laissez 

faire. 

(f) Explain, in brief, about the different 

economic reforms in China of recent times. 

3. Answer any four questions  : 6 × 4 = 24 

(a) How is pollution linked with negative 

externality ?  

(b) Explain the role of agricultural revolution in 

the industrialisation of Great Britain. 

(c) Write down the views of Lewis and Rostow 

in Britain's capital flows. 

(d) Explain the idea of 'common property 

resources'.   
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(e) Explain the reasons of fall down of Shogun.  

(f) Explain, in brief, about the 'Travel cost 

method'.  

(g) Explain the relation between environment 

and economy. 

(h) What are Marginal Abatement Cost (MAC), 

Marginal Net Private Benefit (MNPB) and 

Marginal External Cost (MEC) ? 

    


